Summer Test 2

1 8+8= O
2 11-9= O
3| 9- =4 O
4 38+5= a
5 2+9+1= O
6 3x2= U
7| 8x10= O
8 + 10 = 80 a
Q| 77- =73 O
10 20+30+10= O
"M 72-10-20= O
12| 8x5= O
13| 86—-50= O
19 10+2= U
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Summer Test 2 (continued)

15| 43-

37

16| 37 + 34 =

17 4x3=

18| - of 24 =

19| 53-29=

20 60+10=

21 15+5=

22 of44=

23 32+

39

24| ! of24 =

-h‘w w‘

25 of 20 =

OO 0o /o]0 )j0|0|0o]|4do

How well did you do?

Colour the numbers of the
questions you got correct.

~
[Total marks /25
J
1145|810 ]16]23
21319 (N |13115]19
6 | 712|717
14 20| 21
Missing numbers 31819 |15]23
Fractions of amounts 18 22|24 |25
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